LJ. Segerlind, “Applied FEA”
25.4 AN EXAMPLE PROBLEM FOR STRESS

The input data and the computer output for a small two-dimensional elasticity
problem are given in this section. The problem consists of a plate with a load
applied over a segment of one side and continuously supported along the opposite
side (Figure 25.3). The elements and node numbers are given in Figure 254
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Figure 25.3. A thin plate with a distributed load over part of one side.
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Y on 18 Elements
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Figure 25.4.
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The finite element grid for the partially loaded plate.
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FE Mesh Shrink: 18 Elements 16 Nodes (3 per element)
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FE Mesh; 16 Nodes, 7 with BC or MPC flags
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Y on 18 Elements

Y on 18 Elements
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Deformed mesh: (max = 9.62e-03, min = 0.00e+00) %1073

0 5 10 15 20 25 30

X at 16 Nodes (3 per Element)

Node Vectors and Mesh: (max = 9.62e-03, min = 0)
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Y on 18 Elements (with 3 nodes)

Average Max Shear Stress (max = 3.42e+03)
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Average Von Mises Stress (max = 7.78e+03)
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Y on 18 Elements (with 3 nodes)

Y on 18 Elements (with 3 nodes)

Y on 18 Elements (with 3 nodes)

o Average XY-Shear Stress (max = 2.26e+03, min = -1.02e+02)
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Average Y-Normal Stress (max = -1.86e+02, min = -7.86e+03)
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